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COMMERCE

( Generic Elective )
Answer the Questions from any one Optibn.

OPTION-A
Paper : COM-GE-5016
( Principles of Microeconomics)
OPTION-B
Paper : COM-GE- 5026
(Business Economics)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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1.

OPTION-A

(Principles of Microeconomics ).

Paper

: ‘COM—GE- 5016

(A) Answer the followmg (any five) -

(i)

i)
(iii)

(i)

(v)

What s the
_interpretation of a downward

1x5=5

wﬁamﬁa%@aﬁm (ﬁzasrm%i?r)

What is normal price ?

RISIESRT R (cRTE

Define price d1scr1m1nat1ng,

monopoly market.

GBI WRTSRRe Ioieg siee Bl

What do you mean by a kinked
demand curve ?

TR SR ot e s e

economic

slopping’ AR curve of a monoP°1Y
firm ?

9H mﬁf 9¥qg AR AR
(WO wfeafos g o

Write

down the “short-run

- production function formula.

‘%ﬁmﬁmﬁmﬁamml
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(B)
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(vi) Define Engel curve.
qUErT (IR et frmt |

- (vii) Write one characteristic of perfectly

competitive market.

. A efrenETe IwrR bt i

(biii} What is sunk cost ?
SR I e

(x) What is the shape of average ﬁxed
cost curve ?

Answer the followmg as dlrected (any

five) - 1x5=5
TS RIS oI es o ¢ (Resarear
“A551)

'(i)- Marginal utility curve is always

- (Fill m the blank)
mﬁ@%mﬁ—f eI 7
(1 3% o7 = okl

(i) In perfect competition, the average
revenue curve facing the individual,
slopes downward.  (True/False)

5} AT eRERs Ioite s e
R (WO Wi =W | (w5 geE)
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. (@)

- (i)

(v)

“"When marginal productivity

(MP) = average productivity (AP),

then AP is ‘

(maximum/ minimum)
afen =T Sesimer (MP) =
%wm (AP), cofSat AP iﬂl

(FTCRoD/ SR )

The shape of a perfectly elastic
demand curve is

(Fill in the blank)
o1l oo S RGeS
| (3 3% 95 )

Give one example of cross elasticity -

of demand.

‘ Wwwﬂaﬂa b1 T

(vi)

IR B 5 PSS ————
 (vil
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The indifference curve is convex-

to the origin due to decreasing

‘marginal rate of substitution.

(ﬂue/Falée)

(R TR 2t Ty 237 (&%) %)

Increase in income shifts demand

Curve towards ___. (Right/LefY)
Wmﬁmmw __ wE R

4

(viij) The condition in which market
supply matches market demand is
called

G @A i iRl
(a) equalization
TS|
~(b) normalization
AR
(c) equilibrium
OIRA
(d) None of the above
85T <bre T
(ix) Demand curve can be derived from
income consumption curve.

. (True/False)
I OO U 19 mfiman IESU]
saRe - Crey/we)

2. Answer the following in brief : (within 40
words) (any five) : 2x5=10

wete AT 5 Teg vl 3 (Bobt #3 fowvw)
(Riereert =55
(@) Define opportunity cost.

St T e
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(b)

(o

(@)

(e

(9)

M

1)

What js income elasticity of demand. ?
BIRAR il Fgfogrtet Tt e

What do you mean by marginal rate of
substitution ?

s e 77 e R e e

Mention two important features of an

‘oligopoly market.

TARCETO! TR G4 75T emegepel ey TR
= - I

Write the two conditions of equilibrium

that must be obtained by a firm to

achieve its equilibrium position. -
IR W) #11S SR 3w Tt BT
(PR 701 5% oj3¢1 TR wA1at Bt |

What is producer’s surplus.?

o iR s

Discuss Engel’s law.

. NG R0 TSR} 7wy

Explain tyo
demand cyrve.

PRI T o ) <orel iyt <

Writ .
€ two Properties of isoquants.

TSR G g1 gy o
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factors causing shift in

() Why is the average cost (AC) curve
-U-shaped ?

o PRI 9T I R U-SIgied =2

3. - Answer~ any four from the following :
- | "5x4=20

" (@) Briefly explain how an individual firm
enjoys supernormal profit in the long
run under monopoly market.

G ITES G2 T A Mt

| TS (M I A S R S
ST T

(b) Write 'a short note on elasticity of
demand.

PifriT RFfeReiToR e amWM~m{

() What is a budget line ? When and how
a budget line shifted from its original
line ? R , |
ATTH (I 52 (O S=e (AT A (T4
e WHoe? |

(d) Under what conditions, AR=MR .in
perfect competition ?

& & o6 AMeATE T eforifterEe wiwe
AR=MR Z?

4 (Sem-5/CBCS) COMGE/G 7 Contd.



~-(e)” Briefly explain two excebfions to the (c) Explain the law of variable pfoportion
law of demand. _ ) . :
o . of production.
w&mﬁﬁamwmm@,. st SRTERR Seirs RIRCe it &1 |
1] (\:)Zrlte a short note on income (d) Write three features of monopolistic
nsumption curve. o competitive market. How are price and
R ot @ iR 8olge «fp 5 (BRe IR output determined under such market ?
- (g) Show the relationship befween AC and Explain. N
MC (average cost and marginal cost). G AR &I fSfAeh e
R e 3 S F 0 -

(h) Distingtish between accounting cost (e) Make a comparison }aetween collusive
and economic cost, ~ and non-collusive oligopoloy market.
ﬁmwmmﬁrwmwﬂ@ Rfsre TRER s @7 wRiae Wi
ryeqt | o Rifters Jegfe "2l FoRTe! I@e ers «F

| eI SIS i 491 |
4. Answer any four from the fo llowing : ‘ () Explain the law of diminishing marginal
. . : 10x4=40 atility. . -

R Rz 51317 Sex Ry g g e Seafer RIEd! i =t

(a) (]:.'l)lscuss various determinants of (g9 What do you mean by excess capacity ?
emand "How and when does it arise in
sifniT Rfey WW 1| monopolistic competitive market ?

(b) Discuss the modern cost ¢ Expla.in. Df) you think excess capacity -
T cory is beneficial to the society. ? Give

O SIS Ty
: [ reasons. 2+45+3=10
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(h)

()

0)

wfofRe wwer JRim 5 qane @R
Tesife =, YT W | SR¥Re ol T AE

eI & ot SR et e |

Define income effect. Explain the -

derivation of Engel curve from income
consumption curve (ICC).  2+8=10
S 2R 2 O Toitemt qalw o@1 g
(RN (P S I 2] < |
What_ is price consumption curve ?
Explain the shape of price consumption
curve if both x and y are norma] goods.
. l - N ' 2+8=10
W Toiretef @ 52 T x o y st @0
X (TR 7 STl @R s (o
I 7 -

Expl.ain‘ substitution effect with the help
of diagramatic analysis.

AT e o sroracst s 1 |
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OPTION-B
(Business Economics)

Paper : COM-GE-~ 5026

Arnswer any ten of the following questions :

~ 1x10=10

wete Tl [z 72bt el Te’ T ¢

(@
()
(C),

(d)

(e)

V'{%{@ﬂ?ﬂ@l

Define busint'e‘ss' economics.
e SRR et fi |

What is: natibnal income ?

\ISTRAC N E R |

Déﬁne elasticity of demand.

vifnis ool e far |

Mention an exception . of  the la;v'of
demand.

vt Rfde <61 gfows e a1

The relationship between input and

output is called
 (Fill in the blank)

TeoAnE Bi% TR NS FH~ofs
(T 312 of79 =)
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)

()

0)

(k)

4

Show the shape of isoquant in case of -

perfeétly complementary factors.

Fsjel AR TAM CFaS TG AT (JT
S (PRI T, (el |

“"What is real cost of production?

BeAmAR oS I [F2

Define marginal cost.'i

e e e |

Short-run average variable cost curve
is __ shaped. (Fill in the blank)
gﬂaﬂm SO ARTETNE X @A _____ Siid |

(T} éﬁ‘ %439 )

Draw the total revenue curve of a firm

under perfect competltlon

ﬂ#ﬁﬁwﬁwwﬁmaww'

S RIS S < |

What is meant by normal price ?

quﬁmﬁmy

Define ‘shut- down point’ in market -

ana.lysm
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(m) What is first-degree price discrimination ?

(n)
(o)

(o)

@

()

a2 Wi 7w Resre R

What is durﬁping ’»’

ok B2

Who gave the coricept of quas1—rent’
Fpel ATAS LR (I wmamif%:

Who propounded the uncertamty
bearing theory of profit ?

ST SRFETS! I OGO (I Wﬂw
What is normal profit ?’

el Ao e

Give an example of insurable risk.

S0 Waw <51 T |

Answer any five of the followmg quest10ns

(a)

2x5=10

m—mﬁm%ﬁrmwm"

Mention fwo reasons that give rise to
the economic problems.

--u@mwmm@www
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ye

@

State the reasons for the law of
demand. :

vt KK iR e =4

Write two reasons for leffward shift in
.the demand curve.

I G IS iR I Tl et

Define a linear = homogeneous
production function.

RS TSI Berivm weR ket @ |

dlstrlbutmn and functional distribution.

0)

Write the difference between risk and
uncertainty. ‘

mewﬁwﬁﬁwwm@m|

. Answer any four of the followmg questions :

S5x4=20

(@)

Discuss the importance of national
income in business economics.

(e) Define marginal. rate of technical TR Qﬁf‘ﬁmﬂ—ﬁw S
substitution. = h o
| v
aﬂﬁaﬁmm@ﬂwwmﬁw | : N
. (b) Explain the determinants of price
(7 What is implicit cost of production ? elasticity of demand.
. BeoAlvR SRR Y /e : >
| NI piftne v o ToR Nalwerz It 341 |
(g) State .tLgo condJ;J;ns of price discrimination. (o Wh'at is isoquant. ? Explain the
7R ReotReR 757 58 T = perties of an i t.
. : properties ol an isoquan
(h) Mention two characteristics of TG (1 5 2 AT W?ﬁﬁw
monopolistic competition. 1
e efei Tera 75 wWiRiE v (d) What is economies of scale ? State three
() Distinguish between personal reasons for the rise of internal

economies of scale ?

Ifeare Reaq ol ) Kot e sl 2= Tl TesAe oo Be ey
(TSI | frowel Tea QRN o5 TR T 9
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S (xR G AT T gt 31|

)

Discuss the law of variable proporﬁons.

(e) Explain the characteristics of perfectly ; | In which stage will the producer decide
competitive market. E to produce ? Explain. 7+3=10
o effaifive 'ﬁ$wmﬂaﬂﬁwl | | Bl ARSI Sisite R ST

I/ Explam the basic conditions for. | 391 | TRAMAT ﬁiﬂfﬂﬁ.lf"l_‘iiﬂ@ %Qﬂi'ﬁﬁﬁ (<

"~ equilibrium of a firm ‘with the help of - TeoAivd ﬁsﬁzﬁ.’ﬁ s 3?2 9 ﬁﬂl‘l

a diagram. (c) Explain increasing and decreasing
ﬁmamwﬁ WWWUT + returns to scale. Distinguish between

:;3 o kS economies and diseconomies of scale. -
' ' 8+2=10

Distinguish between money wage and ‘

“ real Wi:e v WeE memmﬁﬁmawwnp

. IR W@l BeArR frefel s sfisien
, Tl TR I S TGRI Mo »ff mﬂ@an | oy et

() Profits are a dynamlc surplus. Explain. | (d) State the importance of demand

forecasting for a business firm. What
are the methods of demand forecasting ?

Explain any two methods. 2+2+6=10

wieol Trmd 71| iR s AwfmR
& 2 Rewna of #&fS 3@ =01

(e) Distinguish between short run and long

» run. Why is the long-run average cost
curve U-shaped ? Why is the long-run
average cost curve called planning

4. Answer any four of the following questioris.: ‘6
: 10x4=40

Tﬁmﬁmwﬁﬁrm%@aﬁm

{a) Explam the various types of business
decisions. Mention the phases of -
business decision maklng process.

6+4=10

JMIRT ' ? - 2+5+3=10
Mﬁmrmmmwl curve °

IR P st eiftea ST | | | |
o | » GE/G 17 Contd,




?g)

g

I S IR T sitefy e | e
NG T @ATE By U-sipfon =2 TR
NG I @Wﬁ‘ﬁﬂﬁ@mm{% (TR =2

Explain how the short-run equilibrium

price and output are determined under

perfectly competitive market. - ‘

o1 ef ST Tuire ZFITH SR 7@
iR AT ﬂﬁmﬁm-@ﬁmcfwm,acﬁi
A ’

Explain how a monopolist attains
equilibrium price and output in the long
run. . A |
RI<picTe GO NN Ge R w1 o
FANTR ARWR S SR we FE,
<0

What is kinked demand curvé ? Explain
how it helps in explaining price rigidity
under bligopoly market.

2+8=10

FIFeE bR (@21 & 2 7w o IS

TR TSl Tt 1S B Roa sy e, e
|
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()

0)

Efcplain vth',e mérginal pfoductivity
theory of wages. State its limitations."
6+4=10

",WW%QWWWWI-

3R ARwerTR fort)

Discuss the innovation theory of profit.

Mention its limitations. . 6+4=10 .

ST AYNY GBRA OG!S 71 | T3
TARTSIHE SE A1 '

LA
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